BTl £ B=2D.
5.f#. (1UEM : A~ CE=BF,
FrA CE+EF=BF+EF, Bl BE=CF.
TE AABE #1 ADCF 1,

AB=DC,

AE=DF,

BE=CF,
FfLl AABEx2 ADCF(SSS).
Frll 2 B=/C.
(2)H(1),75 AABEx ADCF.
fir LA 2 AEB= 2 DFC=30°.
fr A ~ BAE=180°- ~B- L AEB=

180°-40°-30°=110°.

> AF 43 2 BAE,

AT LA /BAF=L /BAE= L x110°=

2 2
55°,
£ 2 RAT
1% RME— 4l ~ ACB= 2~ DCE
2.iEFA . A AE=BF, if LI AE+
EF=BF+EF, ] AF=BE.
K& AC//BD,JtLA ~ CAF=2 DBE.
TE AACF #1 ABDE H,
AC=BD,
/CAF=/DBE,
AF=BE,
fifLL AACFx2 ABDE(SAS).
FrPA CF=DE.
3.f# . (DIFEM RS O R B
AB B9 A, FIfL AO=BO.
A% oD//BC, A ~AOD=2 0OBC.
TEAAOD #MIAOBC H,

AO=BO,

/AOD=/0BC,

OD=BC,
FfLL AAODx2 A OBC(SAS).
(2)H(1)H AAODx AOBC.
fif LA 2 ADO= 2 OCB=35°.
A% oD//BC,
ffA 2 DOC= 2 OCB=35°.

3~4 kR

— BT\
1.19 2.AB=DC
3.85° 423
5.140°
6.(-4,3)8(-4,2)
Z R
7~10.DBBB 11~14.BCAB
= BES

15.3ERH . K>~ BE=CF,
Frl BE+EC=CF+EC, Rll BC=EF.
TE AABC 1 ADEF 1,
AB=DE,
BC=EF,
AC=DF,
fffLL AABCx2 ADEF(SSS).
ffL) ~ ABC= 2~ DEF.
16.f# . Ky AABEx AACD,
frA BE=CD.
A% BE=6,DE=2,
fIfLk CE=BD=4.
fif) BC=BE+CE=6+4=10.
17.%% . oA,

|

D 1

E A
(% 1748)
ADEF Bl R JiFsR,
18.ERA . (1)7E AABC FIAADCH,
AB=AD,
AC=AC,
BC=DC,
FfLL AABCx2 AADC(SSS).
Tl 2 BAC=2DAC,
B AC 43 £ BAD.
(2)H(1),15 ~ BAE= L DAE.
TE ABAE #1 ADAE H,
AB=AD,
/BAE=/DAE,
AE=AE,
FrA ABAEx2 ADAE(SAS).
fr X BE=DE.
19f#%. (VDIX A L ABE=162°, ~ DBC=

30°,
FrL)k 2 ABD+ 2 CBE=132°.
A& AABCx ADBE,
FrlA ~ ABC= 2 DBE.

Frld 2 A BD:LCBE:%X132°:66°.

(2)H AABCx2 ADBE,
fif LA DE=AC=AD+DC=5,BE=BC=4.
fr L ACDP 5 ABEP I JH K Fl =
DC+DP+PC+BP+PE+BE=DC+DE+BC+
BE=2.5+5+4+4=15.5.
20f#. (DIEMA A BE ¥4 2 ABC,
ATl ~ ABE= 2~ DBE.
TE AABE #1 ADBE ',
AB=DB,
/ABE=/DBE,
BE=BE,
JIrl AABEx2 ADBE(SAS).
(2)IH} 2 A=100°, 2 C=50°,
FIr A 2 ABC=30°.
4 BE ¥4 2 ABC,
fff Ll £ ABE= ADBE:%
15°.
1E AABE H', ~ AEB=180°-
£/ ABE=180°-100°-15°=65°.
21iERA. IR SER AD B E L
AD=DE, %% BE.
TEAACD MIAEBD 1,
DC=DB,
/ ADC=/ EDB,
AD=DE,
LA AACD=2 AEBD(SAS).
FrA AC=BE.
TEAABE WP, =M =%R
1% A E<A B+BE,
] 2AD<AB+AC

BT LA AD< (AB+AC).

£LABC=

ZA-

E
(% 2148)
22.f&.(1)IEMH K4 DB /& AC i1
e,
fiffLl ~ ABE= 2 DBC=90°.
TEAABE F1ADBC H,
AB=DB,
/ ABE=~/DBC,
BE=BC,
FfLL AABEx2 ADBC(SAS).
(2)BM=BN,BM L BN.
WEANF i (1)%1 AABEx ADBC.
fir A ~ BAM=/ BDN.
TEAABM F1ADBN H,
AB=DB,
/ BAM=/BDN,
AM=DN,
JFLL AABMx2 ADBN(SAS).
fiffl BM=BN, 2 ABM= 2/ DBN.
fr L ~DBN+ ~DBM= LABM +
£/ DBM= 2 ABD=90°.
fffLL BM L BN.
23.f%.(1)EF=BE+DF.
(2)451 EF=BE+DF /38R A 37
. A L SE K FD B4 GLf# DG=
BE,%E# AG.

¢

(% 2341)
A / B+ + ADF=180°,
/ ADF=180°,
BTl 2 B= 2 ADG.
TEAABE #IAADG H,
BE=DG,
/B=/ADG,
AB=AD,
JFLL AABEx2 AADG(SAS).
fffLL AE=AG, ~ BAE=/ DAG.
%uEAF:%ABAD,
frll ~ GAF=£ DAG+/DAF=/ BAE+
£ DAF=/BAD- ~ EAF= £ EAF.
frLA 2 EAF=Z GAF.
TEAAEF FIAAGE H,
AE=AG,
L/ EAF=/GAF,
AF=AF,
JFLL AAEF2 AAGF(SAS).
Ll EF=GF.
A% FG=DG+DF=BE+DF,
il EF=BE+DF.

£ ADG +
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HZE-ZE/NERAH)Z
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i

2
11.1.1 =ZHFria

1.D 2B 3.C 4.l<x<4
5.2a-10

1112 =S F&58FH%&
1.C
2.5 (DA, 2B AD BIMATR.
- (2)mA, a%Ex BE BIA TR

1113= —RATHREENE
1B 2B
1121 =ZAFEHRNE

1.C 2.C 3.40°
4.f#.[A% BD LAC, ~CBD=30°,
fffLL ~ BCD=180°-90°-30°=60°.
A~ CE ¥4 LACB,

Fir LA LACE:% / BCD=30°.
J 2 A=69°,

ff L ~ AEC=180°- L A - L ACE=
180°-69°-30°=81°.
5.C
6.C
3~4 kR
— E=H
1. %ﬁ [e3 2.5 fA
35 4.50°
5.2¢ 6.100°8%, 130°
T IREE
7~10.CBBA 11~14.CBBA
= BEH
15.08% . oA =MW a=3,b=
7.5 = ¢,
FTURBE =R =R R, WG
4<c<10.
FAEE =30 ¢ IR,
ﬁUcmej&

N HJEK R 6+3+7=16 BY, 8+3+7=18.
16.%% . I AD 2 AABC I,
firA 2~ ADB=90°.

A} BE 343 ~ ABC 32 AD T A5 E,
fA ~ ABE= £ EBD.

&~ BED=64°,

ffd ~ EBD= £ ABE=26°.

XNE1H

17 f% AN B RGO -

(1) HKJE 8cm AU JEMERT, =i
£} 8cm, 8em, 2cm, SFEE = M AFAE

(2) %K J& 8cm HULJE R BT, =
1Kk 8em,5cm,5em, ZEHE = MAIEAALE,
IR 2 5em.

T 2 8em Y 5em.

18.5% . (VK a,b.c(a>h) 535 KM
AABC =il ,ath=3c-2,a-h=2c-6,

3c-2>c,

Pk 2c-6<c.

1S 1<c<®.

¢ PEETE Y 1<c<6.

(2)h AABC BN 12, a+b=
3c-2,

fIrLA atb+c=4c-2=12.

f#15 c=3.5.
i ¢ MESE 3.5.
19.58%. (L),
A
D
B
C H E

(% 1941)

QFEAABFH, L AFB=180>- ~ FAB-
£ ABF=180°-40°-100°=40°.

[A°5 CE LAB,

fir L ~ BEC=90°.

A% ~ ABC=100°,

fif A ~ CBE=180°-100°=80°.

fif L ~ BCE=90°- 2 CBE=90°-80°=
10°.

20.f& . (1) A K (a-h)2+(b-c)=0,

Tl a-b=0,b-c=0.

Tl a=b=c.

Frll AABC JE5510 =M.

(2)IH} a=5,b=2,

JlFPA 5-2<c<5+2, Bl 3<c<7.

FH ¢ ML,

fifLL ¢=4,5,6.

Frl 24 c=4 B}, AABC K 15
/IME=5+2+4=11;

24 c=6 I, AABC I K K=
5+2+6=13.

21.f%. (1)K~ ~B=35°, LACB=
85°, fif Ll ~ BAC=60°.

A4 AD ¥4 £BAC,

fifA 2 DAC=30°.

fifLL 2 ADC=65°.

XAN £ DPE=90°, AT ) £ E=25°.

(2)UFH . [AM 2 B+~ BAC+/ ACB=
180°,

fif L ~ BAC=180°-( ~ B+~ ACB).

900-%( /B+/ACB).
Ll ~ ADC=180°- / DAC- / ACB=
1800-90°+%< /B+/ACB)-/ ACB=90°-

%(LACB—LB).

A% PE LAD, FrLk ~ DPE=90°.
FrLl 2~ ADC+ £ E=90°.
fifLk ~ E=90°- ~ ADC,

EDLE:%(LACB—LB).

2288 . (DRIE=AIEM =R R 15
(2m+1)+(m-2)>8,D
(2m+1)-(m-2)<8.%2

fi#4S 3<m<5.
=R

(2)H AABC 1)
FrL) m=4.
Jir L AABC B9 K =m-2+2m+1+
8=19.
(3)24 m-2=2m+1 i+,
s m=-3( R&HME 4 F);
24 m-2=8 i,
fi#1S m=10>5( R M & 4% );
24 2m+1=8 I},
fRfs mz%.
fIr A4 AABC HEE =T ,m=

7 3
- N m-2==
2 U m-2 >

FItEA, 73 S R O

23.f%.(1)125,90,35.

(2)%48 . L ABP+ £ ACP=90°- L A.

¥ 7 AABC ', LABC+/~ ACB=
180°- L A.

A +ABC = ~ABP + ~PBC,
/ ACB=/ACP+/ PCB,

fir A (£ ABP+ 2 PBC)+( £ ACP+
/ PCB)=180°- L A.

Frik (2 ABP+ 2 ACP)+( /PBC+
/ PCB)=180°- L A.

X ANAE RtAPBC H, £ P=90°,

fifLA £ PBC+ 2 PCB=90°.

FrA( 2 ABP+ 2 ACP)+90°=180°-
LA.

FrLk 2 ABP+ 2 ACP=90°- / A.

QPRI ARAL. £ A+ 2 ACP-

/ ABP=90°.
%24
2 Wi
11.2.2 =RFERIINE
1A 2B 3.70°
4.15°
5 (DR Xh CE 4 2 ACD,

Jﬁ 8.

fIfL) ~ ABD=52°. KA AD 43~ BAC, Frld 2 ECD= 2 ACE.

fif Ll ~ BAC=180°- L ABD- 2 C= , _ _1 _ X} 2~ ABC=~ACE,

180°-52°-76°=52°. fIrEh 2DAC= £BAD=—- LBAC= fFLL 2 ABC=/ ECD.
F1l



frll AB//CE.
(2) & ~ACD & AABC
mM—A~5M A,
ATl £ ACD=2 ABC+LA.
[H} BE *F-4+ L ABC,
Arll ~ ABE= 2 EBC.
1

S LE=LECD—LEBC=?LACD—

% AABC=% (L ACD- LABC)=
1 o
5> LA=25°.

6.72°

11.3.1 &L

1.C 2B

35

4. &g,

5.C

11.3.2 ZAFHR @I
% 1R

1.C 2D 3.720°

4.5 . ()R DU TE B N F -k
(4-2)x180°=360°,

FIT LA 2x°+140°+90°=360°.

f# 15 x=65.

()R A TE A N A AR (5-2)x
180°=540°,

FIr L 3x°+120°+150°+90°=540°.

f#15 x=60.

5.106°

£ 2 RAT

1.C 24

3f&. (VA AE//CD,

ATl 2 D+ £ E=180°.

K & 31 ABCDE H', LA =
100°, /£ B=120°,

B 2 C=(5-2)x180°-180°-100°-
120°=140°.

(2) 1.1 7% ABCDE H44h ff Al &

360°.
3~4 hR
— EZ:
1.9 2.60°
3.2021 4.60
5.35° 6.£1-/2=2/A
ZEEE
7~10.DDCA  11~14.CDBD
= BEB

15.f#.[X°5 AB//CD, L C=60°,

FIrA £ B=180°-60°=120°.

fiF LA (5-2)x180°=x°+150°+125°+
60°+120°,

f#15 x=85.

16.ERA . FH = AT MM TR, 15
/ EAC=/B+/C.

Kks/B=sC,

ATl L EAC=2 £ B.

4 AD 44 £ EAC,

Frl £ EAC=2 L EAD.

ffLk ~ B= L EAD.

fif A AD//BC.

1788 BEX N2 ATLECH n.

I (n-2)x180°+360°=(12-2)x180°.

f# 45 n=10.

B XA Z IR R ECH 10.

18.f&.(1)H & LECD= 2B+ LE,
£/ B=35°, / E=25°,

ffL) ~ ECD=60°.

[Hk CE ¥4 L ACD,

fIfLk ~ ACE=/ ECD=60°.

fIf LI 2~ BAC= £ ACE+ £ E=60°+
25°=85°,

(2)451: £ BAC=/B+2 LE.

¥, Ak 2BAC=/ZACE+/LE,
/ ECD=/ACE=/B+/E,

BTl ~ BAC= B+ E+/E=/B+
2/E.

19.f% . (1)150.

(2)[H/ 2 DAB 43465 £ CBA
M3 T U N — 5 E,

7 1 LEAB:% / DAB, £ EBA =
%LCBA.

Tl « E=180°-( L EAB+ 2 EBA)

:1800—%( / DAB+/ CBA)

:1800—%x150°

=105°.

20.f& . (1) A M 7E Rt AABC H,
£ ACB=90°, ~ A=40°,

fifl ~ CBD= 2 ACB+ £ A=130°.

[A°4 BE & 2 CBD M4k,

FrLL 4CBE=%—4CBD=650.

(2)H/ L ACB=90°, ~ CBE=65°,

fif L 2 CEB=90°-65°=25°.

[X*& DF//BE,

fif LA « F= 2 CEB=25°.

21. f&.(1) iEW . KH AD 5
/ BAC,

fifL ~ BAD=2DAC.

X A & LEFD = ~DAC + LAEB,
/ ADC=/ABC+/BAD, /AEB=/ABC,

fffLL ~ EFD= 2 ADC.

(2) (1) G5B AT AT

i .Ah AD ¥4 £ BAG,

fifLL ~ BAD= £ GAD.

[} ~ FAE= £ GAD,

fifLl ~ FAE= 2~ BAD.

A% ~ EFD=£/ AEB- ~FAE, L ADC=
/ ABC-/BAD, ~ AEB=/ABC,

fif Ll ~ EFD= 2 ADC.

2. (DUWEQO,HHR L1=22+
/D=/B+/E+/D, L1+ /A+/C=
180°,

FTLA 2 A+ 2 B+ 2 C+/ D+ / E=180°.

(2)WMKEQ@,HHNL1=22+2LF=
/B+/E+/F, £1+/A+/C+ /D=
360°,

Bl A+ /B+/4C+/D+ LE+
/ F=360°.

(3)1080°.

(% 22418)
23.f%.(1)122°.
(2)E & CE #1 BE 4> %% ~ ACB
F1 2 ABD BYF4rgk,
B LA LBCE=% / ACB, ~DBE=
1
> LABD.

A A £ ABD J& AABC ) — A~
AN

BTl ~ ABD=2 A+ / ACB.
7 L) LDBE:%( /A+/ACB)=

% / A+/ BCE.
A}y ~ DBE & ABEC f—4N41M ,
fr YA 2 BEC= ~ DBE - £ BCE =
%LA+LBCE—LBCE:%LA:%.
(3)ABQC=90°—% LA,
F£ 38

2~3 kR
— E=

1.60°
2. =L A REN:
3.+=

4.40°

55

a

—iEES

7~10.BABA

11~14.ABCB

= BES

155 . (L) BWXD =M =]
KM xem.

WAL KR, 15 7-2<x<
7+2, Bl 5<x<9.

KA sE = a3 8L,

LA x=7.

Fr A A =ML ER N 247+7=
16(cm).

()M PUATE N F AR (4-2)x
180°=360°.

I LA £ a=360° -65° -70° -(180° -
40°)=85°.

16. 18 & 1

17.f% . A2 AD J& AABC 1) ff1 3
4rek, / BAC=66°,

1

fifl ~ BAD= 2~ CAD== ~ BAC=

2
33°,
Kk CE £ AABC FIES,
frll 2 BEC=90°.
J3 £ BCE=40°,
firLL ~ B=50°.

g2l

HE-ZE/NER AR EETE 18 L@;l ?P) ‘;:J ﬁ(@

fi LA 2 ADC= £ BAD+ £ B=33°+50°=
83°.

18.5% . (DX A IE 2B M EA
AR xo.

MBI, 15 x=4(180-x)+30.

fi# 15 x=150.

FIr LLX AN 1E 2 08 B4 A1
180°-150°=30°.

Ry Z L B 1AM AR 3600,

FIrLLX AN 2 0T H A M A B
360+-30=12.

XA IEZ I L ECh 12.

(2)EXAZHTERIHECH n.

@ﬁﬂﬁ%,”ﬁi—(n-z )x180°=360°.

f#45 n=9.

FIr LA A 23T i 50h 9.

19.f#.(1)[H~ CE ¥4 LACB,

fifLl ~ ECB= L ACE.

A% 2 B=2FAC,

frLl ~ B+ 2 ECB=2FAC+~ACE.

X A N LAEF = ~B + LECB,
/ AFE=/ FAC+/ACE,

FrLl ~ AEF= Z AFE.

QY “ﬁ%f,ﬂ%uLACE:%LACB,

LACP:% £ ACQ.
fr LI £ ECP= £ ACE+ L ACP=
% ( L ACB+£ACQ)=90°.

FrLl 2 P+ £ AEC=90°.

A4 ~ AEF= £ AFE= L CFD,

ffL) 2 P+ 2 CFD=90°.

KN 2 P=26°,

fIrLk « CFD=64°.

20.f&. (DN 2 A+ 2 B+2.C=180°,

fir A « A=180°-( ~ B+~ C)=180°-
(50°+60°)=70°.

(2)H 5 AA'DE & AABC B 78
T %

fr LI ~AED= LA’ ED, LADE =
/A'DE, LA=/A'.

fil 2 AED+/ ADE=/AED+/ A'DE=
180°- L A.

A 2142 L A'ED+ £ 2+2 /. A'DE=
360°,

Bl £ 1+ £ 2=360°-2(180°- L A )=
2/A.

FFLL 4A:%—< 41+42):§—x130°:
65°.
21.5%.(1) AM:90°+% LA.

Bl . [Hh BM,CM 435J& 2~ ABC
5/ ACB IPEAr 4L,

FJ?LJLMBC:%— / ABC, 2 MCB=

1
> £ACB.

it LA 4MBC+4MCB:%—<4ABC+
/. ACB)

_1 o_

=3 (180°- 2 A)

—gpo- L
=90°-3- ZA.

A £ M=180°-( ~ MBC+ £ MCB)
=180°-(90°-%—4A)

—onos L

=90°+5-LA.

(2)4N:%—4A.

. Ah CN E4» L ACD,
L LNCD:%— / ACD.
%>} BN *F4+ L ABC,

1

A 2 NBC=-- ZABC.

ﬁLNCD:LNuNBC:%—LACD:

%—( /ABC+ZA),

FJ?L‘MN%LA BC:;—LA BC%LA.

Nova Nz%— ZA.

22.8%.(1)<.

(2) ABPC JH < AABC .
. B mEQ, 2K BP & AC F
M.

1E AABM ', BP+PM<AB+AM;

TE APMC H',PC<PM+MC.

BTt UL BP+PM +PC <AB +AM +PM +
MC, Ell BP+PC<AB+AC.

Fr L ABPC B JH K < AABC HY
JE K.

(3)VUihFE BP,P,C I JE K< AABC
M.

- WE @, 49l ik K BP,,CP,
AZF M.

i1 (2)%1,BM+CM<AB+AC.

X P,P,<PM+PM,

FILL BP#+PPA+P,C<BMH+CM<ABHAC.

fr UL U i B BPP.C 1 K <
AABC JEE.

A A

(Eﬁ 22 AH)
23.f%.(1)135.
(2) LADB WK/ R AR,

.4 BD 2 AA OB M ~ OBE
HSE434E ,AC 2 2 BAO BYE/r 4R,

7 LA LBAD:%— /BAO, / DBE=
%—LEBO.

N /EBO = ~AOB + ~OAB,
/ EBD=/BAD+/D,

ALl 4EBD=%— 4EBO=%— £ OAB+
%—xgo%% £/ OAB+/D.
FIrlk 2 D=45¢°.

(3)IEH : [k AC,BC 43 513 4>
/ BAO #1 2 ABO,

7 LA LBAG:%— /BAO, / CBG=

;— £ ABO.

A% ~ OAB+ £ ABO=90°,

fir LA 2 BAG+ £ CBG=45°.

A £AGO = ~BAG + LABO =
/ BAG+2 / CBG=/ CBG+45°,

ffL)k ~ CBG= 2 AGO-45°.

K& 2 AGO- ~ BCF=45°,

frl 2 BCF= 2 AGO-45°,

frll ~ CBG=~ BCF.

frk CF// OB.

% 44
2 kR
11eE=/K

1.C
2.5 R - EF A1 NM,EG FINH ;
XA 2 EFlZN, ZEGFHTZNHM.
3A
4.4
55&. (DU [ AABC2 AFED,
FfLl 2 A=/ F
fIrLl AC//DF.
(2)Ah AABCx2 AFED,
frLIAB=EF.
fifl) AB-BE=EF-BE.
frLl AE=BF.

X5 AF=8,BE=2,
frPA AE+BF=8-2=6.
Frd AE=3.
fIrl AB=AE+BE=3+2=5.
6.60°

122 ZfAREEHHE(—)

£ 1R

1B
2.D
3.AC=DB
43ERA . 7E AABC f1AADC H,
AB=AD,

CB=CD,

AC=AC,
FfLl AABCx2 AADC(SSS).

E3IW



